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INSTRUCTIONS

Read carefully the wording of the problem before you start. There are four problems
altogether. You may use a A4 sheet of paper and a mathematical handbook. Please
write all the answers on the sheets provided. You have two hours.

Problem | a. b. C. d.
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1. (25) Suppose we have a population with N units. The values of the statistical
variable are x1, s, . . ., . Denote by u the population mean and by o2 the population
variance.

a. (5) Suppose you chose a simple random sample of size n. Denote

X
=g at
k=1
Suggest an unbiased estimate for . Explain why it is unbiased.

Solution: an unbiased estimate of v is the sample average of the squares of sample
values. We also have

b. (5) Suppose you chose a simple random sample of size n. Suggest an unbiased
estimate for p?.

Hint: Note that 0 = v — u>.

Solution: we know that

5 N -1 =9

= N ;(Xi —X)
is an unbiased estimate of 02. We have denoted the sample values by X, ..., X,.
Since in the above equation in the hint we have unbiased estimates for two of the
three quantities and the relationship is linear, we can estimate the third, i.e. u?,
i an unbiased way.

c. (5) Assume now that the population is divided into K equally sized groups of
size M so that N = K M. A sample is chosen in such a way that k£ groups are
chosen from all the K groups by simple random sampling. Then all the units
from the chosen groups are included into the sample. For the estimator we chose
the average of all the kM sample values. Denote by u; the population average
for the k-the group and by o} the population variance for the k-th group. Find
the standard error of the suggested estimator using the quantity

1 K
2 _ o 2
k=1

Solution: since all the groups are of equal size we have p = % Zle Wi We can
think that we are choosing a simple random sample from a population of groups.
The estimator is therefore unbiased and its variance is given by

2
_ K—
var(X) = %

o

-1’

=
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where

1 K
2 _ — - 2
T_K;(:ur w?

. (10) Assume that the sample is as in c. We would like to estimate the population
variance o on the basis of the sample. Suggest and unbiased estimate. Explain
why it is unbiased.

Hint: look at a.

Solution: we think of groups as our primary sampling units. From a. we know
that pi? can be estimated in an unbiased way. Returning to our sampling procedure
we see that we have an unbiased estimator of

LN
Ly
k=1
Since
| N
o’ = NZ%Z - p?
k=1

and we know how to estimate both quantities on the right we can estimate o2 in
an unbiased way.

To express the estimator explicitly denote by X;; the value of the variable for the
Jth unit in the ith group selected and let A; be the average in this group, and by
A the average of all the group averages which is our estimator. We have

- kMX2 1kA2 hol A; — A)?
2 2N A R A )
_ly MX Ay Bl A; — A)?
W;;< g i)+K(k—1);(’_ )
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2. (25) Assume the sample values xi,zs,...,z, are in independent identically dis-
tributed sample from the gamma distribution with parameters ¢ = 2 and A. The

density of the distribution is
f(z) = Nge ™

for > 0. Note that the density of the I'(a, A) distribution is given by

A
f(l') xa—le—)\x

['(a)
for x > 0 and a, A > 0, and the expectation is a/\.
a. () Find explicitly the maximum likelihood estimator for the parameter A.

Solution: the log-likelihood function is
?(Ax) = 2nlog A + Zlogwk - )\Zazk :
k=1 k=1

Taking derivatives and equation to 0 we have

2n

A= e
ZZ:M%

b. (10) Fix the maximum likelihood estimator so that it will be unbiased.

Hint: if U and V' are independent with U ~ I'(a,\) and V ~ T'(b,\) then
U+V ~T(atbN).

Solution: following the hint we have Y ;_, X ~T'(2n,X). We compute

- 2n
E()\) =F <ZZ—1 Xk)
2n 0
=2n A / 1 CpPn e AT g
0

['(2n) x
2n _

_ 9 AT T(2n—1)

T(2n) Azl
B 2nA
S oan—1
B 2n
S oam—1""

The unbiased estimator is

2n—15\ 2n — 1

A= _ 2ol
2n D1 X
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c. (5) Using Fisher information find the approximate standard error for the maxi-
mum likelihood estimator.

Solution: we compute for n = 1.

2
g//: _ﬁ

The approximate standard error is

. A
se(\) = T

d. (5) Find the exact variance for the maximum likelihood estimator.

Solution: we need E(S\Q) We compute
( 2n — 1 >2
ZL X
A2 <1

— (9n — 1 2 = 2n—1 -z
(2n —1) T /0 2T e dz
A T (2n —2)

E(N)=E

B A O R e
o (2n—1)2N
 (2n—1)(2n - 2)

_ 2n—1 .,

C2ln—1)"

It follows ,
- 2n — 1 A
Var()\) = )\2 (m — 1) = m .

: 2n? 9
Var()\) = @n = 12 = 1) A°.

Further, we have
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3. (25) Suppose the observed values are pairs (z1,91),. .., (Zn, yn). Assume the pairs
are an i.i.d. sample (X1,Y7),...,(X,,Y,) from the density

1 _ (y—0x)?
[ 202z
oV 2rx

for z > 0 and —0co < y < oo and o2 > 0. The testing problem is

f(x7y> =e "

Hy:0=0 versus H;:0#0.
a. (10) Find the Wilks’s test statistic A.

Solution: the log-likelihood function is

n

n 1 — Ox,)?
k=1

Computing partial derivatives we get
O~ (ye — Oz)
00 Z o?
k=1
ol - — Ox,)?
_n + Z (Yk )

Jo o odxy,
k=1

Equating with 0 we get
0 — Zk:1 Yk
D k=1 Tk

and the second equation gives

R 1 & (yk—éxk)Q
2 _
o __nE ~

x
k=1 k

When we mazimize only over o? taking derivatives gives

A N

do o P o3y
It fololows
1 o~ y2
~9 _ = Yk

k=1
After some calculations we get

A= —2nlogo +2nlogo.
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b. (15) Assume that Hj is rejected when A\ > A\, where ), is chosen in such a way
that the size of the test is @ € (0,1). Give an approximate value for A\, using an
appropriate x?(r) distribution?

Solution: Wilks’s theorem gives the rejection region as {\ > A\, } where X\, is the
(1 — «)th percentile of the x*(1) distribution.
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4. (25) Assume the regression model
Y = X3 +e€,

where E(e) = 0 and var(e) = o?(I + al11”) for some a > 0. Assume a is known and
X is a n X m matrix with rank m.

a. (15) Show that
B=[X"(1+c11")X] "' X" (1+c117) Y
for
a

1+an
is the best unbiased linear estimator of 3.

Hint: check that
(I+a11") (I+c11") =1.

Solution: let ,[;' be an unbiased linear estimator of 3. We can write

B =LY
for a matriz L satisfying
LX3=03.

We compute

Var(,é) = V&I‘(B - B + B)
= Var([; — ,[;') + var([;’) + 2COV(,é — ,é, ,(;’) .
Denote
A=(I+al1") and C=I+c11".
Compute

AC =T1+al1” +c11” + ac1111" =1+ (a + ¢ + nac)11” =1.

Taking into account that cov (Y,Y) = 0?A we get

cov (B-8,8) = cov (L - (X"CX) ' X"C) Y, (X"CX) "' X"CY)

-1

= o* (L - (X"CX) ™' X'C) ACX (X' CX)

1

=0’ (LX - 1) (X"CX) "~
=0.

The conclusion follows the same way as in the proof of the standard Gauss/Markov
theorem.
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b. (10) Suggest an unbiased estimator for the parameter o?. Explain why it is

unbiased.

Solution: one possibility is to use residuals. Denote

é
€ .
e= || =Yy —Xxa.
én
We have
é= (1-X(X'CX)'X"C)e
and

&= (Y -X8)' (Y - XB)

- = ¢ (T- cx(X"CX) 'X") (T- X(X"CX) 'X"C)e
—s1/(1- X (X7CX) X" (1 - X(XTCX) X C)ee” |
Since e’ = o?A we get

E <; éZ) = 0?81 (T- CX(XTCX)'X") (T- X(X"CX) 'X"C) A

=0’ SI(A — X(XTCX)'XT).

It follows that

~2 1 - ~2
7 7 SI(A - X(XTCX) 'XT) ;E’“

is an unbiased estimator of o>.



